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% Answer the following questions: (2.5 x 4=10) -/ )&«LZL:«UVJ“ 3l
Q.1. Zahid got a life insurance policy of Rs. 500000 at the rate of 5.2% and
the policy fee is 0.25%. Calculate half yearly premium at 52% of the
amount premium.
£52% S £0.25% Pt aide U AS 5.2% 5P LU S 0,500000 4413
-J &.«PK(/ S
Q.2. Usama insured his life for Rs. 700000. Find annual premium at 4.5% of
the policy amount with policy fee at the rate of 0.25%. Calculate
monthly premium at 9% of the annual premium.
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Q.3. Saud bought a car for Rs. 700000 and got it insured at 4.2% annual
premium for 3 years. Calculate how much premium he paid in 3 years
if depreciation rate is 12%.
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Q.4. A man has a car of worth Rs. 1400000. He got it insured for a period of
2 years at the rate of 4.5%. The depreciation rate is 10% per year. He
has to pay the premium yearly. ?Find the total amount of premium he

to pay for a period of 2 years.
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Q.1. Zahid got a life insurance policy of Rs. 500000 at the rate of 5.2% and
the policy fee is 0.25%. Calculate half yearly premium at 52% of the
amount premium.
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Q.2. Usama insured his life for Rs. 700000. Find annual premium at 4.5% of
the policy amount with policy fee at the rate of 0.25%. Calculate
monthly premium at 9% of the annual premium.
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Q.3. Saud bought a car for Rs. 700000 and got it insured at 4.2% annual
premium for 3 years. Calculate how much premium he paid in 3 years
if depreciation rate is 12%.
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Q.4. A man has a car of worth Rs. 1400000. He got it insured for a period of
2 years at the rate of 4.5%. The depreciation rate is 10% per year. He
has to pay the premium yearly. ?Find the total amount of premium he

to pay for a period of 2 years.
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